IAMEER 9H o — B E D02 14F Ji2
A&—k P4 9:38 B ~A&—AXG.C. BFI3FIH 29H g fr | K 4 | ouT | IN | GRO | H. D | NET |%HD |[~-5 | &1 4
K 4 HD K 4 HD K 4 HD K 4 HD B WlE e Bops| 43| 44| 87| 16| 71| 12
R T S T I CRCN = R i il & omow 0] a1 si] 10 7] 8 0
S11.9.12 $20.10.1 $21.6.7 3hr |9 b o ws| 45| 46| 91| 18| 73| 17 400
M N N te | s o ow| 6] 51 o7 23] 74
$23.12.10 $25.3.3 $48.9.2 560 @& FI | 421 46| 88| 12| 76 1,000
g |D BT o BRI AR e 6 |M W E p| 59| 49| 108 31| 77 1,200
$24.3.20 $31.4.7 $37.6.13 740 | A & SE[ B9 46| 105 26| 79 1,600
Rz R4 FENO.6 HNO5 =7ty  PENO.5 NO.8 HNO.3 NO7 B.B |# # & | 47| 49| 96| 17| 79 1,600
BImE B NO 9 |4 R K 15| 61 52| 113 291 84 2,600
K 4 HD |[Fv7 [FE A Hivg HAL &
L R 17| O
2 |4 B K& 5] 29 O B | FEHOZL—YEvh | 4,000
3 [ o fn| 36 | x Y 4 5| FEIOZAV—T LR | 3,000
4 |f8 W O&H M| 23 | O = iz CIES 2,500 % E|/DEEK
5 R L Shisl 18 | O B. BY A H B 3,000 weoow | HkBY—
6 |m JF M K|l 12 | O % B | 1R 9| 1,500(13,500
7 |H BE IE ®E| 31 O ) | BY— 1] 2,000( 2,000
8 | M & | 26 O e B H | BY— 1] 2,000( 2,000 o A& FH 9,000
9 |# W B3| 16 | O E A E 30,000
10 &2 A& Fao#| 10 | O HEREALE LR ARB4EI A 29 H a—2 <A —AG.C. PREH Vel
1= A %) 22 | X B4 12X VLAY, REBESEDE B, BI16 B2k % IST5%
12 [l A IE 26 | X PRV AR SIS A I OB A 35L& RURICRES) LRS00
=T EV|PENO3 A [JENOT 4R T, FEH OGRS AMERS | ARAFO L HEE S I B DR D33NT A 1615
FRNO5 &l | BNO8 fER M LAE3 NITET @ DNEFR AR TLT,
K22 |ENO5 f&@hg | BNO6 HEE E
k55 |#NO5 Bk |HNO6 A 1(\)/[
S 9N | OA




